

State of West Virginja Department of Administration Quotation **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# Request for

REQ NUMBERS DEP15000

PAC	<b>E</b> (1)
	1

CHUCK BOWMAN 304-558-2157

RFQ COPY TYPE NAME/ADDRESS HERE TRIAD ENGINEERING, INC. 4980 TEAYS VALLEY RO. SCOTT DEPOT, WY 25560

ENVIRONMENTAL PROTECTION DEPARTMENT OF OFFICE OF AML&R 601 57TH STREET SE CHARLESTON, WV 25304 304-926-0499

DATE PRINTED TERMS OF SALE SHIP VIA FREIGHTTERMS 05/06/2010 BID OPENING DATE: 06/02/2010 BID OPENING TIME 01:30PM QUANTITY LINE UOP ITEM NUMBER UNITPRICE AMOUNT 0001 JΒ 962-16 1 DRILLING SERVICES FOR SOUTHERN DISTRICT THE WEST VIRGINIA PURCHASING DIVISION, FOR THE AGENCY, THE WEST VIRGINIA DEPARTMENT OF ENVIRONMENTAL PROTECTION'S OFFICE OF ABANDONED MINE LANDS & RECLAMATION, IS SOLICITING BIDS FROM QUALIFIED VENDORS TO ENTER WITH THE AGENCY INTO AN OPEN-END CONTRACT TO PROVIDE DRIL-LING SERVICES IN THE SOUTHERN COUNTIES OF WEST VIRGINIA PER THE FOLLOWING SPECIFICATIONS, TERMS & CONDITIONS. BID REQUIREMENTS, AND THE ATTACHED BID SCHEDULE. THESE SERVICES WILL RESULT IN THE DEVELOPMENT OF INVESTIGATIVE REPORTS FOR AGENCY USE. EXHIBIT 1 LIFE OF CONTRACT: THIS CONTRACT BECOMES EFFECTIVE UPON AWARD AND EXTENDS FOR A PERIOD OF YEAR OR UNTIL SUCH "REASONABLE TIME" THEREAFTER AS IS NECESSARY TO OBTAIN A NEW CONTRACT OR RENEW THE ORIGINAL CONTRACT. THE "REASONABLE TIME" PERIOD SHALL NOT EXCEED TWELVE (12) MONTHS. DURING THIS "REASONABLE TIME" THE VENDOR MAY TERMINATE THIS CONTRACT FOR ANY REASON UPON GIVING THE DIRECTOR OF PURCHASING 30 DAYS WRITTEN NOTICE. UNLESS SPECIFIC PROVISIONS ARE STIPULATED ELSEWHERE IN 7010 JUN 29 AM II: 04 THIS CONTRACT DOCUMENT, THE TERMS, CONDITIONS, AND PRICING SET HEREIN ARE FIRM FOR THE LIFE OF THE CONTRACT. WV PURCHASING SEE REVERSE SIDE FOR TERMS AND CONDITIONS (304) 755-0721 ADDRESS CHANGES TO BE NOTED ABOVE 55.0592364 RESIDENT



State of West Virginia Request for Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# Request for

DATE PRINTED TERMS OF SALE SHIP VIA FOR FREIGHTTERMS

DEP15000

REQ NUMBER

ADDRESS CORRESPONDENCE TO ATTENTION OF

CHUCK BOWMAN 304-558-2157

RFQ COPY TYPE NAME/ADDRESS HERE TRIAD ENGINEERING, INC. 4980 TEAYS VALLEY RO. SCOTT DEPOT, WV 28560

**ENVIRONMENTAL PROTECTION** DEPARTMENT OF OFFICE OF AML&R 601 57TH STREET SE CHARLESTON, WV 25304 304-926-0499

05/06/	7.00000000000000000000	UEH	MS OF SAL	·=	SHIP VIA		- I	O:B	STALE GRI	TERMS
BID OPENING DATE:		06/02/	2010			BID	OPENING	TIME C	1:30PM	
LINE	QUAI	YTITY	UOP	CAT. NO	ITEM NUMB	ER	UNI	TPRICE	AM	OUNT
		80.380.880.990.000	200000000000000000000000000000000000000	300 000 000 000		322000000000000000000000000000000000000	<u> </u>			<u> </u>
A STATE OF THE STA	RENEWA	L: THI	S CON	TRACT	MAY BE RE	NEWED	UPON THE	MUTUAL		
					SPENDING					
					TOR OF PUR					
					RATION DAT				•	
B.	E .				THE TERMS					
					SHALL BE L R PERIODS.		טאו טו	(2)		
	SUCCES	SIVE U	N	) IEA	K I EKTODG.					
	CANCEL	LATION	: TH	E DIR	ECTOR OF P	URCHAS	ING RESE	ERVES THE	:	
					DNTRACT IM					
					F THE COMM				S	
					ERIOR QUAL					
	MTTH 1	HE SPE	CIFIC	AIIUN	S OF THE B	ID WAR	CUNTRAC	: HEKEIN	•	
	DPEN M	ARKET	CI AUS	F: TH	E DIRECTOR	OF PU	RCHASIN	S MAY		
1					NIT TO PUR		1			
	MARKET	, WITH	OUT T	HE FI	LING OF A	REQUIS	ITION OF	R COST		
					IED ON THI					
					EMERGENCIE				***************************************	
i	6		•	1 .	NOT LIMITE		2	and the second s	-	
1	3	OF WO	1	AN U	NANTICIPAT	ED THE	KEASE II	A the		
1	4 0 T 0 1 1 T	OI NO								
	INSURA	NCE: S	UCCES	SFUL	VENDOR SHA	LL FUR	NISH PRO	OOF OF		
	COVERA	GE OF	COMME	RCIAL	GENERAL L	IABILI	TY INSU	RANCE ANI	<b>)</b>	
					LIABILITY				Γ	
					00.00 FOR					
	1		ŧ		CH OCCURRE E, PRIOR T				<u>.</u>	
	\$2,000	, 0 0 0 . 0	U AGG	KEGAI	E, FRIOR I	u 1990	ANCE UF	CONTRAC	'	
	-									
					VENDOR IS				4	
	CERTIF	ICATE	FROM	WORKE	R'S COMPEN	SATION	IF SUC	CESSFUL.	-	
	(XX) B				ENT (5%) O				•	
	HE RI	U PAYA	PrF	U IHE	STATE OF	WES! V	IKGINIA	, SHALL I	5	
				SEERE	VERSE SIDE FOR TEI					
SIGNATURE,	while	1.14			Ti	ELEPHONE OF	755.	0721 DAT	06/29/	2010
TITLE	P	F	IN 65	.054	2364			DRESS CHANG	ES TO BE NOTE	D ABOVE
L				1				···		



RFQ COPY

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

TYPE NAME/ADDRESS HERE

#### Request for Quotation

CHUCK BOWMAN 304-558-2157

**ENVIRONMENTAL PROTECTION** DEPARTMENT OF OFFICE OF AML&R 601 57TH STREET SE CHARLESTON, WV 25304

304-926-0499

ADDRESS CHANGES TO BE NOTED ABOVE

DATE PRIN	TED	TER	MS OF SALE		SHIPVIA	FO	B	FREIGHTTERMS
05/06/								
BID OPENING DATE:		06/02/	2010		BID	OPENING '	TIME 01	:30PM
LINE	QUA	VTITY	UOP	CAT NO	ITEM NUMBER	UNIT	PRICE	AMOUNT
	BONDS IRREVO SOLVEN STATE IN LIE UNDER	MAY BE CABLE T SURE OF WES U OF A \$100,0	PROVI LETTER TY COM T VIRG BOND 00. P	DED OF PANY INIA WILL ERSO	D AS A BID BOND. IN THE FORM OF A CREDIT, OR BOND AUTHORIZED TO I . A LETTER OF C ONLY BE ALLOWED NAL OR BUSINESS THE 5% BID BOND	CERTIFII FURNISHED D BUSINES REDIT SUD FOR PROCEED CHECKS A	D BY A SS IN THE BMITTED JECTS	
	FOR BA	NKRUPT	CY PRO L AND	TECT VOID DER.		AY DEEM	THE .	
	A SIGN	ED BID	миѕт	NOT BE S	ICE UBMITTED TO:			
	P B 2	URCHAS UILDIN 019 WA	ING DI G 15 SHINGT	VISI ON S	INISTRATION ON TREET, EAST 5305-0130	•		
					THIS INFORMATION MAY NOT BE COM		FACE OF	
	SEALED	BID						
	BUYER:				CB-23			
	RFQ. N	0.:			DEP1500			
SIGNATURE	. //	7		SEERE	VERSE SIDE FOR TERMS AND CO		DATE	24/20/0



DOCZUK

DATE PRINTED

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

# Request for Quotation

SHIP VIA

DEP15000

PAGE 1

ADDRESS CORRESPONDENCE TO ATTENTION OF

CHUCK BOWMAN 304-558-2157

RFQ COPY
TYPE NAME/ADDRESS HERE
TRIAD ENGINEERING, INC.
4980 TEAYS VALLEY RO.
SCOTT DEPOT, WV 25560

TERMS OF SALE

ENVIRONMENTAL PROTECTION
DEPARTMENT OF
OFFICE OF AML&R
601 57TH STREET SE
CHARLESTON, WV
25304 304-926-0499

FREIGHTTERMS

06/18/	2010								
BID OPENING DATÉ:		/29/	2010	Intrastrumentos	20001700100000000000000000000	BTD	OPENING TIME	0.1	:30PM
LINE	QUANTITY		UOP	CAT NO	ITEMNI	JMBER	UNITPRICE		AMOUNT
	******	***	****	* ADD	ENDUM NO	. 4 ****	*****	****	
		CON	TRACT	ADVE	RTISEMENT	r to dis	ICT DRILLING TRIBUTE THE E.		
	BID OPENI TO 06/29/					EXTENDED	FROM 06/24/1	.0	
	*****	****	****	** NO	OTHER C	HANGES *	*****	****	
					And the second s	,		·	
	mercania proprieta de la companya de				T				
	and the second s					_			
						,			
	m opportunity and the			 					
0001		7	JВ	and the second s	962-16				\$ 355, 200.
	PRILLING		VICES	FOR	SOUTHERN	DISTRIC	1		
•	and the state of t				Pounds stocked the				man en
					***************************************				**Conference of the Conference
				\ \ \	*				
MAN	 		1	See be	I VERSE SIDE FOR	TERMS AND CO	L NDITIONS		1
SIGNATURE	IN A TO	M-	<u> </u>			TELEPHONE	) 155-0721	DATE	06/29/ 2010
TITLE VICE)	PRESIDEN	J F	EIN 55	-059	2364		· · · · · · · · · · · · · · · · · · ·	HANGES	TO BE NOTED ABOVE
			<del></del>			- ADDDE-00	IN OD ACE ADOME I	AFTELE	ים אירגום אין

### REVISED per Addendum #4

WV-36 (Rev. 01/01/07)

# STATE OF WEST VIRGINIA PURCHASE CONTINUATION SHEET

em No.	Quantity	Description	Unit Price	Amount
		AML SOUTHERN DRILLING OPEN-END CONTRACT-		
		Addendum #4		
			197	
	3000 LF	SOIL BORINGS	13.00	\$ 39,00
		SPLIT SPOON SAMPLES	20.00	\$ 3,000
	75 EA	SHELBY TUBE SAMPLES		\$ 120,000
	4000 LF	ROCK CORE BORING	30.00 50.00	\$ <u>/20,000</u> \$ <u>8 750</u>
	1/5 Hrs	PORTABLE DRILL UNIT (Winkie) PVC PIEZOMETER INSTALLATION	13.00	\$ 23 400
	50 EA	CASING/LOCKS	100.00	\$ 5.000
	ADDO MI	MOBILIZATION/DEMOBILIZATION (per each Rig) BOTH WAYS	6.00	\$ 24,000
	300 Hrs	DOZER TIME FOR DIFFICULT ACCESS/RECLAMATION (CAT	95.00	\$ 28 500
	0001110	D-3 or equal)		
	300 Hrs	i i i i i i i i i i i i i i i i i i i	75.00	\$ 22,500
		PC120 or equal)	0	ســـ نه
	150 LF	ROTARY DRILLING FOR VIDEO MONITORING	27.00	\$ 4,050
	150 LF	CASING FOR VIDEO MONITORING	12.00	\$ 1,800
	5 Days	VIDEO MONITORING	1,300.00	\$ 6,500
	300 Hrs		80.00	\$ 24,000
	300 Hrs		1,200.00	
	10 EA	REVEGETATION (per job)	_4,20010-	\$ 12,000
		LABORATORY TESTS		
	40.54	Moisture Content	5.00	\$ 50.
•	10 EA 10 EA	Atterberg Plastic Limit	25.00	\$ 750
	10 EA	Atterberg Liquid Limit	25.00	\$ 250
	10 EA	Sieve Analysis with No. 200 Wash	25-00	\$ 250.
	10 EA	Sieve Analysis without No. 200 Wash	25.00	\$ 250
	10 EA	Hydrometer Analysis	45.00	\$ 450.
	10 EA	Unconfined Compression	30.00	\$ 300.
	10 EA	In Place Density	25.00	\$ 250.
	10 EA	Standard Proctor Compaction	100.00	\$ 1,000.
	20 EA	Temperature Probe Reading	10.00	\$ 200.
	10 EA	Float Sink Analysis (with various specific gravities)	90.00	\$ 900.
	10 EA	% Ash	20.00	\$ <u>200 ·</u> \$ 250 ·
	10 EA	% Volatiles	40.00	\$ 400.
	10 EA	% Fixed Carbon % Sulphur	20.00	\$ 200.
	10 EA 10 EA	BTU	25.00	\$ 250-
	IUEA			

### REVISED per Addendum #4

WV-36 (Rev. 01/01/07)

# STATE OF WEST VIRGINIA PURCHASE CONTINUATION SHEET

Page 2	of 2	_ Pages	Requisition / P.O. No.: DEP15000
File:		Acct. No.:	
Spending (	Jnit:		

Vendor: TRAD ENGINEERING, INC. P.O. Date: 06/29/2010

ltem No.	Quantity	Description	Unit Price	Amount
		AML SOUTHERN DRILLING OPEN-END CONTRACT		
;	Arapide description	TRIAXIAL COMPRESSION OR DIRECT SHEAR		
	5 EA	Unconsolidated Undrained	120.00	\$ 600.
	5 EA	Consolidated Undrained	240.60	\$ 1,200.
	5 EA 5 EA	Consolidated Drained Sodium Sulfate Soundness Test ASTM C88	240.00	\$ 1,200.
		MISCELLANEOUS SERVICES		
	5 EA	(1) acid-base account	40.00	\$ 200.
	5 EA	(2) nutrients	40.00	\$ 200.
	10 EA 10 EA	(3) PH (field) (4) PH (lab)	15.00	\$ 150. \$ 180.
	500 Mi	(5) Mobilization/De-Mobilization Haz-Mat Testing (One Way	2.00	\$ 1,000.
		Only)	10.00	
	10 EA 10 EA	(6) Asbestos (7) Total Petroleum Hydrocarbons	85.00	\$ 100.
	10 EA	(8) BETX	45.00	\$ 450.
	10 EA	(9) PCB's	65.00	\$ 650.
	Terra de la constanta de la co	TOTAL BID		\$ 355,20
	and the second			
				war-vertified to the state of t
				***************************************
	The state of the s			
	A-4-4-4-4-4-4-4-4-4-4-4-4-4-4-4-4-4-4-4			
	4		***************************************	
			****	
	***************************************			
	a national desiration of the state of the st			
	***************************************			
	Ĭ			
	1			

Agency DEP
REQ.P.O# 15000

#### **BID BOND**

		S, That we, the undersigned	შ. <u>Triad Engineering</u>	
of <u>4980 Te</u>	ays Valley Road, Scott	Depot WV 25560	, as Principal, and Western Surety	/ Company
of <u>U.S. Steel T</u>	ower, 600 Grant Street, Suite 500,	Pittsburgh, PA a corporation	n organized and existing under the laws o	of the State of
South Dakota with	its principal office in the Ci	ty of <u>Sioux Falls</u>	, as Surety, are held and firmly boun	d unto the State
of West Virginia, as Ob	ligee, in the penal sum of _	Five Percent	(\$ <u>5%</u> ) for the p	ayment of which,
well and truly to be mad	te, we jointly and severally	bind ourselves, our heirs, a	administrators, executors, successors and	d assigns.
Department of Adminis	tration a certain bid or prop	osal, attached hereto and r	sipal has submitted to the Purchasing Sec nade a part hereof, to enter into a contrac plans and specifications.	
NOW THERE	FORE,			
(b) If said bid hereto and shall furnish agreement created by t force and effect. It is ex	any other bonds and insu he acceptance of said bid,	rance required by the bid or then this obligation shall be greed that the liability of the	contract in accordance with the bid or pro proposal, and shall in all other respects null and void, otherwise this obligation s Surety for any and all claims hereunder	perform the hall remain in full
	d by any extension of the t		t the obligations of said Surety and its bo e may accept such bid, and said Surety (	
IN WITNESS	WHEREOF, Principal and	Surety have hereunto set th	eir hands and seals, and such of them as	s are corporations
		•	to be signed by their proper officers, this	
28th day of June		10	, , ,	
Principal Corporate Sea	SEAL'		Triad Engineering (Name of Principal By John M. Meeks (Must be President)	) n
	11979 Vanishing		Vice President (Title)	
Surety Corporate Seal			Western Surety Company (Name of Surety)	
	A A A		Ross E. Johnson Attorney-in-Fact	<i>,</i>
		43 987 4 8 7 . 3 7 . 4 . 5	root in original	n must be afficed

IMPORTANT – Surety executing bonds must be licensed in West Virginia to transact surety insurance. Corporate seals must be affixed, and a power of attorney must be attached.

# Western Surety Company

#### POWER OF ATTORNEY APPOINTING INDIVIDUAL ATTORNEY-IN-FACT

Know All Men By These Presents, That WESTERN SURETY COMPANY, a South Dakota corporation, is a duly organized and existing corporation having its principal office in the City of Sioux Falls, and State of South Dakota, and that it does by virtue of the signature and seal herein affixed hereby make, constitute and appoint

Ross E Johnson, Beverly A Holstine, Kathryn K Arthur, Sheila Mc Cormick, Individually

of Charleston, WV, its true and lawful Attorney(s)-in-Fact with full power and authority hereby conferred to sign, seal and execute for and on its behalf bonds, undertakings and other obligatory instruments of similar nature

#### - In Unlimited Amounts -

and to bind it thereby as fully and to the same extent as if such instruments were signed by a duly authorized officer of the corporation and all the acts of said Attorney, pursuant to the authority hereby given, are hereby ratified and confirmed.

This Power of Attorney is made and executed pursuant to and by authority of the By-Law printed on the reverse hereof, duly adopted, as indicated, by the shareholders of the corporation.

In Witness Whereof, WESTERN SURETY COMPANY has caused these presents to be signed by its Senior Vice President and its corporate seal to be hereto affixed on this 25th day of April, 2008.



WESTERN SURETY COMPANY

Paul & Bruffat, Senior Vice President

State of South Dakota
County of Minnehaha

. **5**S

On this 25th day of April, 2008, before me personally came Paul T. Bruflat, to me known, who, being by me duly sworn, did depose and say: that he resides in the City of Sioux Falls, State of South Dakota; that he is the Senior Vice President of WESTERN SURETY COMPANY described in and which executed the above instrument; that he knows the seal of said corporation; that the seal affixed to the said instrument is such corporate seal; that it was so affixed pursuant to authority given by the Board of Directors of said corporation and that he signed his name thereto pursuant to like authority, and acknowledges same to be the act and deed of said corporation.

My commission expires
November 30, 2012



Lleb Frell, Notary Public

#### CERTIFICATE



WESTERN SURETY COMPANY

J. Relson, Assistant Secretary

### STATE OF WEST VIRGINIA Purchasing Division

## Purchasing Affidavit

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidavit and is in compliance with the requirements as stated.

WITNESS THE FOLLOWING SIGNATURE GINEERING, INC. to-wit: Mark H. Reger County of Taken, subscribed, and sworn to before me this 29th My Commission expires NOTARY PUBLIC AFFIX SEAL HERE



### State of West Virginia

### vendor preference certificate

Certification and application\* is hereby made for Preference in accordance with West Virginia Code, §5A-3-37. (Does not apply to construction contracts). West Virginia Code, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the West Virginia Code. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

⁴. <del></del>	Application is made for 2.5% resident vendor preference for the reason checked:  Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preceding the date of this certification; or,
	Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or 80% of the ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or, Bidder is a nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification; or,
2.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
3.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a minimum of one hundred state residents who certifies that, during the life of the contract, on average at least 75% of the employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
4.	Application is made for 5% resident vendor preference for the reason checked:  Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or,
5.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard and has resided in West Virginia continuously for the four years immediately preceding the date on which the bid is submitted; or,
6.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years.
requirer against	understands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to meet the nents for such preference, the Secretary may order the Director of Purchasing to: (a) reject the bid; or (b) assess a penalty such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to the contracting agency cted from any unpaid balance on the contract or purchase order.
authoriz	nission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division and es the Department of Revenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has paid tired business taxes, provided that such information does not contain the amounts of taxes paid nor any other information by the Tax Commissioner to be confidential.
Under p	penalty of law for false swearing (West Virginia Code, §61-5-3), Bidder hereby certifies that this certificate is true curate in all respects; and that if a contract is issued to Bidder and if anything contained within this certificate

Date: 06/29/2016 Title: VICE FRE
"Check any combination of preference consideration(s) indicated above, which you are entitled to receive.

AD ENGINEERING, I

changes during the term of the contract, Bidder will notify the Purchasing Division in writing immediately.